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2 A 60,965,960 57,209,404 | 3,756,556
200 AtEA2|= 60,965,960 | 57,209,404 3,756,556
230 {EAARIE 50,426,960 | 46,075,404 4,351,556
234 H&£& 37,613,226 | 35,228,273 | 2,384,953
401 AlMH|ZL204Y| 37,613,226 35,228,273 | 2,384,953
01 Al&H] 37,510,410 33,049,158 | 4,461,252

Oske2t 29,538,000

o Aot ERAUEY M3 15,000,000 x4l 2 = 60,000

o BE(3,5,62T) stz HHIALY 2,000,000

- 2H| 500,000,000 = 500,000

- &£H| 100,000,000¢ = 100,000

- AlH| 1,400,000,000% = 1,400,000

0 TE(1287) 4T HH|AY 2,216,000

- 2H| 756,000,000¢ = 756,000

- TH| 151,000,000 = 151,000

- AlH| 1,000,000,000% = 1,000,000

- 712 309,000,000 = 309,000

0 ZU2/(9,1027) ST HH|ANY 4,077,000

- 2H| 759,000,000¥ = 759,000

- &£H| 152,000,000¢ = 152,000

- AlH]| 3,000,000,000& = 3,000,000

- 7|12 166,000,000¢ = 166,000

o SHH(1,2,7) stetE HH|ALY 7,079,000

- AlH| 6,735,000,000& = 6,735,000

- 712 344,000,000¥ = 344,000

0 SYH (82 ) Stttz EHIALY 4,211,000

- ZH| 588,000,000 = 588,000

- | 123,000,000¥ = 123,000

- AlH| 3,500,000,000& = 3,500,000

Zot2{2|(6. 757 SR HH|AIY 6,234,000

- AlH| 6,000,000,000& = 6,000,000

-7l= 234,000,000¥ = 234,000

0 OZ(2E )M 2|7 U St HY T otttz HBAY 67,000

-3 67,000,000 = 67,000

0 HMF LT 2=Z HH|ALH (OFH TS} 2,179,000

- 2H| 122,000,000¢ = 122,000

- TH| 57,000,000¥ = 57,000

- AlH| 2,000,000,000% = 2,000,000

0 AUF -2tz FLUZXAIEY 997,000
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0 UFEZAIG L BRECGHLES AlH| 60,000,000¥ = 60,000
O 2kt 2,831,400
0 =E ot FHIAL (RHET1EA) 566,000
- 3| 566,000,000& = 566,000
0 otk AlE U IHZZAL 500,000,000/x14 = 500,000
0 otk S WY 7IgESH| 1,050,000,000¥x14] = 1,050,000
o otk FHIA 700,000,000¥€x1Al = 700,000
o AtH FHE 2 77,00091x200& = 15,400
mR=FIE 5,141,010
0 L&t HE FHIAIY 1T 1,321,000
- &H 264,000,000& = 264,000
- AlH| 1,057,000,000& = 1,057,000
tr2t2 FHANY 2CHA 1,560,000
- | 468,000,000% = 468,000
- &H 218,000,000& = 218,000
- AlH| 874,000,000& = 874,000
o stE A1 U JHZEZ A 700,000,000&x14] = 700,000
o 5t4E S eI 2gESH| 850,000,000¥4x 14 = 850,000
0 5t&E FHTAL 700,000,000&x14 = 700,000
0 At RHE 22| 77,00094x130E = 10,010
03 AlZECHY| 102,816 29,115 73,701
0 B5(3,5,6@7) otz FH|AY AlH| 7,000,000¥ = 7,000
0 BE(1,287) ot-a= ZHAY AlH| 4,000,000 = 4,000
0 2Y(9,1087) SteU2 YH|AY Al8| 10,000,0009 = 10,000
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AlH| 7,000,000 = 7,000
o Aot EZAZY 43 AlH| 540,0009 = 540
O ghibt 11,000
0 L&5tHZ FHIAIY 3,000,000¥ = 3,000
o otk AlY U IHZZAL 3,000,000¥ = 3,000
0 otk S WEIIY 7IgESH| 3,000,000¥ = 3,000
o otk FHIA 2,000,000¥ = 2,000
O gl 21,276




B (200) AEHAE % : (230) REANHS
HE (234 752 S : (401) Al crol : 42)
i 2 2 L
g = oae | ZRE | sz
ol B ot E HHIAY 1EA 1,560,000,000¥%0.36% = 5,616
0BT AM QU zrTA} 1,200,000,0009/x0.36% = 4,320
05t 5 MY 7IgE,H| 1,000,000,000¥%0.63% = 6,300
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235 7[A1&X| 12,729,734 10,841,631 1,888,103
401 AlMH|ZL204Y| 12,729,734 | 10,841,631 1,888,103
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- 71A|, A7 6,094,403,000& = 6,094,403
- HE ER 200,000,000¥ = 200,000
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- 025tk 300,000,000% = 300,000
o Stee|d SEAY 2,517,000
- 2H| 1,028,000,000& = 1,028,000
- H| 514,000,000 = 514,000
- AH| 514,000,000% = 514,000
-712 461,000,000¢ = 461,000
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2,500,000,000¥ = 2,500,000
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-2y 280,107,0008 = 280,107
- AlH]| 297,341,000¢ = 297,341
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270,000,000¢ = 270,000
02 Z2l] 40,000 40,000 0
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40,000,000 x 1A = 40,000
03 A|MECHH| 30,883 27,270 3,613
o otez{2|d tiad ZA 20,383,000 = 20,383
0 St 2 JHZALY 10,500,000& = 10,500
237 S7|7HIE 84,000 5,500 78,500
405 AtAtz|SH| 84,000 5,500 78,500
01 Z2RHUEZZF|SH| 84,000 5,500 78,500
Oot42t 84,000
ostez{2|d AEY 7|2 Y 80,000,000¥ = 80,000
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- | 4,861,000,000& = 4,861,000
- & 496,000,000¢ = 496,000
- AlH] 4,462,000,000¢ = 4,462,000
-7l= 520,000,000¢ = 520,000
800 OflH[H| 200,000 0 200,000
801 ofld|H| 200,000 0 200,000
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01 YgtofH|d| 200,000 0 200,000
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